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Which of the following diagrams best
indicate the relation between

Intelligence, Anxiety and Strength ?

(A) (B) OOO

EAF2x6-12+4+2=7

Solve :2x6—12+4+2="7

(A) 12 (B) 10
(©) 11

(D) 9
S, A& w1 8 R, C ¥ @ 8, Al
vasels, cﬁaﬁa% aﬁmﬁ%w}

AT DA R ?

'S is taller than A and R is taller than C

but shorter than V. S is shorter than C, so
who is the tallest among them ?

A) Vv B) C

(C) R ;. (D) S

frfRad SR T A Ei 3:ﬁ'{ #ﬁ
R QA T IR ;-
Study the following figure and' answer

the question given below :
[]—> fata wim / Married Peoplc

O — T qiEm d T e wm /

Pr;ople who live in joint family

. /\ —> = fowr / School teachers
N & 38R & 39 ST Y g S & S
agmvﬂauﬁw%%éﬁmaﬁﬁmﬁa%
sk fes g2

. By which letter, the people who live in

joint family but are neither married nor
teachers are represented ?

(A) S (B) . R.

DT

I AE

ﬁ'ﬁmﬁ ELE ﬁ, Th Wﬁ!ﬂ TRIT%,
TG WG, TR A= e o e E, foi
T T3 T 915, o A& T ITAN Hlh
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In the following question, a word hag
been given, followed by four other
words, one of which cannot be formeq
using the letters of the given word. Find

that word.

APPLICATION

(A) POLONIA (B) POINT
(C) OPTICAL (D) ANTIC

T ST TR 3 ST Y ST 6 4,
<reré 4 et o Semd 1 Fh R 1 4 Fh
| A5 7 T Q) e FR A AT
6 Tt x 1 ) 71T A BB AR 1
T e g | 6 Tt x 4 Tt AT AT T B

RE AW TCE | =i B 1 3R 350 a1

6 TS T (6 9 YT &), 1 T g I

4 SR e (4 ¥t o @) # R

TE |
wﬁmaﬁtamaﬁa‘-ﬁaﬁwﬁm

I RETERE R R Ul

A cuboid shaped wooden block has 6 cm
length, 4 cm breadth and 1 cm height.
Two faces measuring 4 cm x 1 cm are
coloured in black. Two- faces measuring
6 cm x 1 cm are coloured in red. Two
faces measuring 6 cm x 4 cm are
coloured in gréen. The block is divided
into 6 equal cubes of side 1 cm (from
6 cm side), 4 equal cubes of side 1 cm

~ (from 4 cm side).

How many' cubes will remain if the

- cubes having black and green coloured
~are removed ?

(A) 16 @B 8 E‘#
(D) 4
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A puzzle enthusiast - is’ trying to

remember a code to unlock a mysterious

box. He recalls the following details :

1. Thecode starts‘v;'ith'?a;.

25 The code ends w1th729

3. The second digit is twice the vﬁrs:t

digit.

4 The third digit is half of the second

digit.

Now, con_sidering these ,conditions, the

enthusiast has narrowed down four

poteritial codes for the mysterious boX.

Find fhe,suitable one.”” . N
@A) 363729 @ 324729
< B 336729

11, Every. poet

st 2 Fromt fog o # 1 o) e
memmﬂmgmw
& s 7 @ e /A e A
Tl @ 3 dE B R A w8
HT/A /8 |
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(A) ATl T8 11 FE FEE |

(B) mﬁwﬁ.llmm%l

(©) Iaﬂ;nﬁq‘lagamm%l

(D) St Frepd [ FTET F@R |

In the question below three statements

followed by two conclusions numbered I
and 1I are given. You have to assume

~ everything in the statements to be true,

then consider the two -conclusions
together and decide which of them
logically follows beyond 2 reasonable -

“doubt from the information given in the

statements.
Statements :

Rl ‘Rabindranath Tagore wrote many

poems.
has asethetic

- knowledge.
[II. Aesthetic is a part of axiological
© study. ;

Conclusions : .

L. Rabindranath Tagore did different
axiological study. -

[I. He followed the base of logic and
ethics.

(A) Neither I nor II follows.

(B) Only conclusion II follows.

(C) Both I and II follow.

(D) Only conclusion I follows.
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9. war wmd foh arpfa (x) & fag e gwST |
(1), (2), 3) 3 (4) ¥ @ B & HA
TS ST R | .
Find out which of the figures (1), (2), (3)

and (4) can be formed from the pieces
given in figure (X).

rqb

X) m @ 3 @
A @ B) @
© 3 D @)
10. =R oot & § gar ol 6 wReRft ¥fie
g YT W Ae w e e e 3 |
Find out from amongst the four

alternatives as to how the pattern woul.d
appear when the transparent sheet is

folded at the dotted line. . o
NI R NE O
S L] B e
® O @ 3 @
A @ (B) 2

- © O D @

1. AB®WERIC,DF R IEBH

ARIAIRD WS E | E,C & 559 K

qafag ?
(A) et B) wmft
(C) weftsht (D) - 55

A is B’s brother. C is D’s father. E is B’s
mother. A and D are brothers. How is E
related to C ? }
(A) Wife (B) Sister-in-law
(C) Niece (D) Sister

12. =% fawew gt S Ry o waem 6 oo
B | H1ht frerar-seran &t |

Choose the alternative which closely
resembles the mirror image of the given
combination.

REASONING

(A) oVIIVIOS AT (B) oVIViO2AdSI
(C) s1TA20UIUD (D) ¥YEV20UIUD

NPT NTIVE PINVICIATIY S FONYICLNTVL PONPIRTZN

Gl Q5% e

13.

14.

15.

16.

TOVA *F WPOUTNTIOF & DNPOUVEAT SV oS PIWIANTEV,

%mgﬁ@m%ﬁaé'l

Choose the figure which is different from
the rest.

oINS

2 @) @ 6
ww e
) ) D) @)
s S 7 aRE oo 99 € | A S A |
i o § | @ d9 T @, B w
for T & | 99 Y Q) SR H T TG Y
Tt T T @ | e fohaa € 2

There are twelve dozen of apples in a
basket. Two dozen are added later. Ten
apples got spoilt and are removed. The .

" remaining are transferred equally into two

baskets. How many are there in each ?
(A) 168 (B) 89
(C) 158 } D) 79

3 1 TH AHA § TS 30 I F Gy
Toh @S I &1 3 | e Tedieh 4 T g
1l ¥ § 3 1 fosh T 98 7 S g,
3R Tt F 12 3w fht 9 T €, @

IR fope I E 2
A crate of mangoes contains one bruised
“mango for every 30 mangoes in the crate.
“If 3 out of every 4 bruised mangoes are

considered unsalable, and there are 12
unsalable mangoes in the crate, then how
many mangoes are there in the crate ?
(A) 480 (B) 320

© 420 « (D) 240

| frfRed § @ 9 T freer 99 R

STec] <hT Geieh 39 BRI ?

S LS 2.9 3. 3@R 4. fyam

5. foram

Which -of the following option would be
meaningful order of the following words ?
1. Birth . 2. Death .3. Funeral

4. Marriage ' 5. Education

(A) 4,5:3,1,2 1 (B)1,5.4,2,3
© 2,3,4,5,1 (D) ks 35 4;.5,°2
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17, Waﬁm%m AT 14-18

ﬁm%mﬁ%%aw&w%wﬁa%?

(A), ST Svem % s

o
s
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18.

19,

- 20.

(B) a1 afrewR

(C) v ¥ g afreR
(D) - 4 Y T 7 SRR

Accordmg to Indian Constitution,

Articles 14-18 deals with which of the
following rights ?

(A) Right to Constitutional Remedies
(B) Right to Equalxty

(C) Right against Exploitation
(D) Right to Freedom of Religion

Prefiiee § @ 2 @1 R <siatd sh
Rew S s i g ST g 2 '
) 3if@m (B 17

(C). 257E= (D) 16 3T

Which of the following days is celebrated

as “International Workers’ Day’* ?
A)- 3 15‘ December(B) 1% May
(C) 25%November (D) 16 August
ﬁnﬁ«ﬂ?ﬁ § @r ﬁw T etk H rﬁ?@
gy
(A) 37!‘«'%1’%@3(3) ﬁmqﬁa@:
©) Ritwae D) Wi

Whlch of the followmg Acxd s present
in Spinach ? "

(A) Oxalic Acid” (B) tacnc Acid'’
(©) Citric Atid ” (D) Acetlc Acxd“ |

= W a1 mm g 1%1@1 mn
' m%o £y

(A) " deh Fea e

(B) hies ATeie &9 AR,

©) ﬁﬁam%m.wm
- (D) "t fam v

£ “Soldlerlng with Dignity” is the novel

written:on which of the followmg Indian

- Military Stalwart ?.

¢ mv.ﬂwrcn m PSULATIVR s b‘o‘k‘g‘;"fr ‘ena POVIN

(A) PVC Capt. Vikram Batra % T
(B) ' Field Marshal Sam Manekshaw
(C) Field Marshal K.M.. Carlappa
(D) CDS Bipin Rawat

TIVR CEN PN

et firg Referd ﬁt{ﬁvﬁhﬁﬁé%&

22.

23.

CNTU VA S Awpe Sy

5

(A) B

(A) Mysuru |
- (C) Ahmedabad (D) Bengaluru

7.40)
24,

YA AN eS

HURSH P T frep § w9 dnrerenal
T % o Fames it st 2= fr
e e & fr=fafaa § @ few daem
¥ farta A R 2

(A)  HEHTIET HATTS

(B) VST WATE™

(C) HIINE TTHEA! &1 HaTerd

(D) 3TaTH 3R IE ATt 1w
The responsibility of the regulatory and
administrative framework for corporates
in order to make them effective
contributors to national development
falls under which of the followmg
Ministry of India ?

(A) Ministry of Co- -operation

(B) Ministry of Planning

(C) Ministry of Corporate Affairs

(D) Ministry of Housing and Urban
‘Affairs

Wt FEYH SN (e aheR)
Feafafea d a wei fRE g 2

(B) ™

(C) IEHEETE - (D) TR

The. Physlcal Research Laboratory (Main
Campus) is. situated at which of the

following places ? .
(B) Pune

I T A n T TR T (SSieE) &
fora s TREFR? .

What is the contact number. for Women
Power Line (WPL) in Uttar Pradesh 2-

(A) 1044 (B) - 105
114 (D) 1090

‘umwgwa?\qa ﬁwﬁrﬁﬁﬁ%m
TSI HIERR? N
(A) T ®) s
(C) wHAREH (D) 3anfEwm

“Mamallapuram Utsav” is a festival of
which of the following states ?

‘(A) " Gujarat- (B) Tamil Nadu
(C’) Kamataka (D) desha

\ APINTATD Y L EONPSWEATIVR

GL-4



25, frefiRad § @ A @1 5, H5 TEHR A

26.

27..

~_ Which of the following is the highest-

GL-4

- (A) HiEE

- ©

v a1 Rrelta gafkri @ fmfor & sremen
31 SRl ¥ fore foRa ST 8 2

(A) =TT (B) TS =T

(C) T (D) It =
Which of the following expenditure ‘is
incurred for purposes other than the
creation of physical or financial assets of
the central government ?

(A) Tax Expenditure

(B) Revenue Expenditure

(C) Capital Expenditure

(D) Outcrossed Expenditure

maﬁ??rqaﬁtaﬁauﬁﬁ%m fere

TESFTE 9 2
(B) RE

(C) wiieg (D) <&

According to ancient Jain and Buddhist

texts, how many Mahajanapadas were

there ?- .
(A) Sixteen (B) Twelve
(C) Fourteen (D) Ten

frfofaa 3 ¥ B I =*w F et a
aéfa%%nmégﬁwaﬁm%(wm
FamEn) ?

(A) el (gfrE 3aTE)

‘@) e (g ) |

(C) T (e Iferd 31TI)
(D) wadt (Y areferss)

ranking Police Officer in the districts of
Uttar Pradesh (except Commissionerate) ?
(A) DCP (Deputy Commlssmner of
Police)

PSI (Police Sub Inspector)

ACP (Assistant Comm1ssmner of
Police) '

SP (Supermtendent of Polxcé)

(B)

(D)

28.

29.

(A)

30.
© 5 FHugEe et 4 1922 H amazﬁrr anaaq

- (D)

PN PIVIN TIVR FONVEDLATEV 8 OON PIVLNTIOV R ""‘(\ vdi"*'rsv' CONPIVENTV R CONPOVINTIVL TN PIWINTE VA GO POCTA TR GO I TV R SO VORI TIF R GO P L. AN

6

freffea # & a9 @ FEA @y

wH TE B ?
(A) R (B) Yhedt
©) ), HE

Which of the following crop is not ,
kharif crop ?
(A) Soyabean
(C) Wheat

frefifa # & H 91 TGOME W
TEY TS] e TEUNE @ ?

(A) = HTEAR 55U

(B) = dguTE

(C) HigHl 4CTTR

(D) AT 6 9ellg -

Which of the following port is the largest
container port of India ?

New Mangalore Port

Kochi Port -

(C) Kandla Port

(D) Jawaharlal Nehru Port

Srefifaa 3 ¥ 5T Te & S, rﬁaqm

(B) Groundnut
(D) Maize

(B)

e e fea 2

8 (A) =T 1 fasrse
(B) - ge

(C) TeT TSTad T St IS "
(D) SfETETeT ST THER

" Mohandas Karamchand Gandhi called
" off the Non-Co-operation Movement in

1922, due to which of the following

incident ? o

(A) Partition of Bengal EE

(B) Chauri-Chaura Incident

(C) Lala Lajpat Rai Lathi Charge
Incident "

Jallianwala Bagh Massacre

A



31.

e TR wEw A, W aiw g

: 35, ¥ W wMeT (ILO) I @ 4% &
forferftea % @ frw 3w i R R 0 i fram ot @ ww w0 & fog
(A) ¥ (B) s v wETs I JAE | EH Hid
© Wi (D) we fem FW % ferg 2002 7 a1 o % faens fava
The famous UNESCO site Bord ' S | i
s site Bordeaux, T = T
Port of Moon is situated in which of the T o e il Sy ?
following country ?- () TS (B) 17
(A) China (B) Austria © sgm (D) 2@
" ©) F D) CostaRi The International Labour Organization
(C) France (D) Costa Rica - (ILO) launched the World Day against
- . . 3 Child Labour in 2002 to focus attention
32, IW W H, YA Taaal GUTH QUG o}? the global extent of child labour and
: o) Prefafad o the action and efforts needed to eliminate
(et ) A AR it. Each year on which date World Day
=g ? against Child Labour is observed ?
i T (A) 7™ August (B) 1%May
Eﬁ (a) @ ®) =R- € S"July (D) 12%June
RILII R I D
© . @) 73T 36. FrafaRea & @ frm T aw =1
In Uttar = Pradesh, the Government 3R 3313‘-31@ T TR 3R hTe D
Freedom Struggle Museum (Shaheed PO N ‘
Smarak) is established in which of the e et 1 e e 28
following location ? ' | oot % &9 1 g R g 2
(A) Meerut ~ (B) Chauri-Chaura (A) THITET (B) IIITH
(C) GangaGhat - (D) Mathura® (C) Hiehtarrs (D) THEES
: e ' Which of the following special force is
33, WIS .7 & A fhT &5 T PMJAY & mandated as tllls ’elited a_gil.el force to
: A respond to hijacking and similar security
W%ﬁ%ﬁ 202,3 ﬁwmﬁm% ? situations on aircraft and airports ?
- (A) wEm (B) we (A) NIA (B) RPF
© fan D) () CBI (RN RS
Uttar Pradesh has recently 'bagged al; . é%a:%ég:; 2 o
awards in 2023 for its execution of Frrfefem .
PMIJAY in which sector-? (A) TSRS (SATH)
(A) Industries  (B) Healthcare (B) R
(C) Education (D) Agriculture (C) ™3
— ' (D) AR
e , 2011 % 313 o I T H "~ The Board of Revenue, Uttar Pradesh
Ty formauTa F=n g 2 was established in which of the
ool . . following districts ?
- What is the overal! sex-ratio of Uttgr (A) Allahabad (Prayagraj)
Pradesh State, acco,rc‘lmg to Census 2011 ? (B) Varanasi
(A) 982 (B) 892 (C) Meerut
(C). 912 (D) 812 (D) Lakhimpur
AN PPN TIVE POAVIVLATIVE AN PIULNTHEVL COA T AT VL CONPOUVLANTVE 0T V:“.’? TSTVE SONPOULATIVL MO PEOWTATIFVA 075 U A TR QAN PO ATV SO h‘\G{N{‘SLZ

e
28 Ul




T 3w 2023 H, e i o g &
Ay A angr g fawr v forn 2
(A) e (B) TR

(Q) T (D) weE
Regently in November 2023, India and
which neighbouring country participated
in Joint Military Exercise “Surya Kiran” ?

(A) Sri Lanka (B) Myanmar
(C) Nepal (D) Maldives

B & 8, JuHEs 7 fefefea § @ fea
e R @ ¢ orga wRa' 3 B wd s

feamd 2

(A) ®RER (B) 8 feweht

(C) 3w (D) SRorE
Recently, The Prime Minister flagged off
the new ‘Amrit Bharat’ trains from
which of the following railway station ?
(A) Haridwar (B) New Delhi

(C) Ayodhya (D) Varanasi
fr=fefea & & fFg =9 & = 3 HAifa

38.

39,

40.

AT g Uit T sl T
(TEtdft) At gEet e W § gET W

Fiferer fmar 2 |
(A) EiEmm (B) AT
(C) WENIg (D) - ST FA

Which of the following state’s block

secured the second position in the first

delta rankings of Aspirational Blocks

Programme (ABP) announced by NITI

Aayog ?

(A) Haryana (B) Telangana

(C) Maharashtra (D) Uttar Pradesh

&4- %#qu g3 § WA ARt
v 9 g & - feee Tma

ATRYA &1 A9 FeAfafea d @ wm @R 2

(A) HATEEE -

(B) HAT9EH T ~

(C) ATHIA TFFTYT

(D),

Which of the following is the name of

the operation launched by India to

evacuate Indian nationals from Russia-

Ukraine conflict zone ?

(A) Operation Rakshan

(B) - Operation Ganga

(C) Operation Ashwagandha

(D) Operation Suja y RS

OO OPVINTIVE PINPIINTHV L A ptL e

GL-4

41.

& PN T

Gellarsy 28 Ullire

42.

43.

AT AN PV AT VY ST AP

8

44,

45.

46.

POVA AN PIAL NIV AN AT A TN A SRS AL A T VR MAN PRI T VA AN PEUTATEVR

fpefeRaa & @ fRE 30 3 2024 & By
g i wfirer B A FehT R e

(A) = (B) ®H
(C) AT (D) ¥
Which of the following country refugeq

to join the BRICS group in 2024 7
(A) Iran (B) Russia
(C) Argentina (D) India

2016 % it T AzEd § e T R g

AT T TR T fegr T 91 ?

Which denominations of currency was
taken out of circulation in the

demonetisation done in 2016 ?
(A) 100& 500 (B) :1000 & 500
(C) 1000 & 2000 (D) 2000 & 500

mmﬁ,mmg@mwl

g
(A) T3 (B) @S
(C) TR (D)

In Uttar Pradesh, where is the Cyber
Crime Headquarters located ?

(A) Meerut  (B) Lucknow
" (C) Prayagraj. 7 (D) "Kanpur

Shoedt s awed 8 0

(A) F s 3 Eﬁ‘
o (B) HERRI HETHRT et
(O TRE I |

(D) HTe 37 farshl ¢

GST stands for

(A) 'Government Sales Tax

(B) ‘Government Service Tax

(C) Gbods and Services Tax

(D) Goods and Sales Tax ,
QU Y gd HRET SHews § 9
foram, st ¥ gq HraTs i 5254
St T T TR T |

(A) =Y (B) FH
(C) g (D) ST
The Prime Minister participated in Sant

Mirabai Janmotsav, a program to
celebrate the 525" birth anniversary of

Sant Mirabai in

(A) Mathura — (B) Kurki
(C) Dwarka (D) Rishikesh

A




47, Prfofen 4 R o o 2

(A) s (B) TR

(C) wHien (D) ebraf

Which of the following is the capital of
Philippines ? |

(A) Bangkok (B) * Kuala Lumpur

(C) Manila - (D) Jakarta
48. WA # ‘TP wwan Rmw” g e @
TATIT AT 2 2
(A) 26598  (B) 31 3T
(C) 147E= (D) 2 3T

The “Rashtriya Ekta Diwas” celebrated
-on which date in India ?

(A) 26" January (B) 31% October
(C) 14" November- (D) 2" QOctober

49. Fefefes 4 ¥ frm wRg dws =

“IYATE TR & 10 A THT ST B 2
(A) e T =
(B)  HTEE gt
(©) i fd e
(D) F¥ftSmEg
Which of the following famous author is
known as “Upanyas Samrat” ?
(A) Harivansh Rai Bachchan
(B) Makhanlal Chaturvedi
(C) Suryakant Tripathi ‘Nirala’
(D) Munshi Premchand

50. & & H, Fom wEier g Y e @w @

NP IVIAN TSIV STAVPTLATIVC SANPSVLA TV Y SONWIRTATIVR SOAVENL ATV * "N D"

9

A

QH(Z\V\"K‘\‘ (Y AV N M Ar—

Heiftrd F GG @ T [EHR 2023
Sftar 2 | |

(A) fohehe (B) shica

(C) digrsit (D) F=h
Recently, Chirag Chandrashekhar Shetty

‘won. Major Dhyan Chand Khel Ratna

Award 2023 belongs to which sport ?
(A) Cricket (B) Badminton
(C) Archery (D) Wrestling

=t

o

52.

- (A) 9rorEt

53.

54.

IVR G INPINTATI Vi

IZA 3 o oSt T FT A R 9
(A) fagm (B) W
(C) anfe (D) femrm

What is the name of the lander of
Chandrayaan 3 ?

(A) Vigyaan (B) Pragyaan

(©) Aditya (D) Vikram

B & 8, e 3 refiRea 1 @ g wm
R R, I % T 73 wdier 3 weuh
35 [ICC (Ifr) 1 3geme a2 2

(B) wiiereTg

© =wfeft (D) e
Recently, The Prime Minister inaugurated
India’s largest convention and exhibition

centre IICC (Yashobhoomi) is located at
which of the following places ?

(A) Varanasi (B) Faridabad

(C) NewDelhi (D) Chandigarh
frafafea & & =9 @1 ara § e =1
AT THAR 2

(&) gt gfem e s

(B) - HBIER %k

(C) u=ht

(D) TSR =56

Which of the following is the highest

.. honour for Police in India ? .
~(A) President’s Police Gallantry Award

(B) Mahavir Chakra
(C) Padma Shri

(D) Param Vir Chakra
g e Yo § ve AR FaE,

3. & A0 @ THET 1T AT, HT T TSABT
X e m |

(A) B (B) fam

(C) aAige D) fa&e

In the social media network -formerly
known as Facebook, Inc. was renamed to

(A) Meta (B) Bing!
(C)  Orkut (D) Twitter

SANPINTA TN W SR A W NI VA DA PITTATI VU AN e LN -

GL-4
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55, ‘vamer feu aQE TR AR EIR? |67, g v 1 Hfu-f=Se T A 2
A) FH+T (B H+T

(A) ™A (B) @A . .
(C) AT (D) diaen (C) H+% (D) I+ %

s6. ‘wmanyn frefafea § @ fFE W |68, frefafea 3§ @ = & faaw g g 2
wafaar & 7 L A : (@B - ©' O«
(A) T (B) fe co. freffag § @ w1 @ fadw dem A
© Yo (D) =& P e

57, ‘TR e A WA FF @ FAE I (A) = (B) T&H
Ty & fu s v A AR ? (€) T@HRHTS (D) Al
(A) TR (B) JTged 20. ‘g PrEfEmR € 17 W T § 39 @
(C) Feur (D) & fr g 2 ,

(A) Yo frar - (B) g foea

58, g faweq d gfaam fmmefs
aﬂi-ﬂzaﬁ%ﬁ e (C) Gt fwar (D) g fRan
-4Tg! 71, “ern siee fa m @ € 17 78 91 fea

(A) F-R =
(B) g-AR = ~qrt FTARIR?
(C) w-af = wa-31 (A) Efy FdaES
(D) ™-T = grRft-uw (B) I ST
59. ‘Ragdhl GeM ¥ YHIW AT W I F (€) W(ﬁ)aﬁﬂﬁm
forq wepc h1 TG R 2. 3 (D) "=
(A) FRF gl (B) IEAEEN |72, “Hagy @0 U W@ T T ¥ A H

' W?%Ta%mm?ﬁ:ﬁ wgar=a
60. PmfiRaa & & feass Tm w1 I AA € 2 (A) (B)
(A) WEHEFTW  (B) . el F AW (C) A=A (D) wrEaTA
() weiisam (D) faR@iFam |73, gqaa::gm'gmmmﬁa%mﬁa
@R

| 61. Fr=fafea & | e w=g 1 WM THa<H
f AR ? o Ol (B),  Set 3w
A) TR (B) -3 (C) S @A (D) I BIAA
(C) <= (D) <m - |74, o T dm T TR 2
62. ‘oremrd # HU U ¥ | @ifha I H HH (A) 3Ab (B) ST
TFHR? (€) T )
(A) INFOFE (B) WEHIE |75 FEftEd w4 4 @ A R,
(C) FdiHRE (D) HYFH IHT ST B ¢
63. ‘T TR AP A AT R ? (A) T < =T T
AF B (C)T (D) ;K (B) AlEFT
64. ‘TR W H r g 3 e P A A €] SIS
AR (D) FIgaeh &
"(A)y WA+ (B) W+ [T 76. e 4 99 i IET
(C) T +«e (D) W+ A1Ee %{a’;m;—go it L
65 ‘TR TR AT EE R ? (A)9 (B) 13 (C) 10 (D) 11
(A) 3 @ (B) FITANE AW |00 Poffes 3 @ gavaras g9
(C) Sa &A™ ENSELIT | RO R ¢ -
. 66, ‘A& T AT §9 FA1RT (&) o B) @
< (W) F@ (B) T (C)T3 (D) T (C) =i (D)

MOANPSITNTIVL "0 pTATIVL AN povTa™s ¥y o oo
= T~ - ANeeeT . -
- v, 3 Ve Nt Va A MM esT AT Ve A e L aT v




78.
W B I STARRE 2

(A) 3w (B) fodemymy
C) =\ (D) e
%{’t’gﬁmmﬁmmﬁmﬁ
Ay @ () R D g

79.

80,
“(A) | (B)

(O wam ghfifereht

frafefen T A e ® T $ I

QAT : (1. 4. 81-85)

- fiftm @R & @ FE € - geF W 3w

(A) m:@azmgﬁgwm
R (B) - FW G H e FE
J£ O mea s o
(D), ®M SN F & aeh T =rerrehy
2. T UTCH 1 SR WM afa & w1 A off
| SEW 8, Af | |

(A) éﬁ%mﬁmmqﬁ-ém%
ggra?qa'f SN

(B) T HT |

(C) - TTeft 39 HTH H P F *,
fobg wfere s = |

(D) AT 39 HTH Bl T A H: |
e BifeT |

A ek U QR

© su-f= . (D) wR-Ug

82.

83

CONPIUINTIVR CONVICLATIVL CON PICLNTOVE PO KUZA TV CONPIVTNTI VR PN POCTN TV émvw:ﬁryn' L

(@]@2@7 S23)itig

ST T~ 9T e o @ R 1" v i |

T IR AT BT R w A R T

- {90.

11

34,

85,
e e A 79 o @l @ e S |

86.

87.
88.
(A Ot

89,
A TRG

91.

92.

TS ST TR | ,

e Sftaw F g s @t @ e €

IERERE e TcE A

(A) e e & g W@ <t @ frera €
RITPETFRFsmFaE |

(B) &fe Sfaw o 7w 3w Wit & frer
RIS sm s |

(C) eF Sfew & &9 fafts wor & &m0
FA e A | e f |

(D) & e & 77 W v it @

LGRS RERER e ot 3
g W1 3 for wartraTeht e g
(A) 9= (B) TR =T
C) T (D) fafm
TETR Fia & wiy FefRea ¥ 3 = E
(A) ™ (B) Wm
© (D) wWEH
et R w e i ey
LE IR :

(A) 3O¥w (B) wiR&H

(C) wmTeft 39w (D) =TT

“fiew’ 3R ‘aTeC 78 Frm Rrar-Ren %
IIAEE ?

(B) ®ME=S
(C) vRAWEE® (D) SeEES
‘ﬁa’wwwha@ﬁqﬁ}’mﬁ?m%?
(B) ¥y

C) TWH (D) g

e s = =1 a9
E@gﬁ?ﬁqmﬁﬁﬁqm%?

- (A) Yaa-femm (B) sw-fem

(C) w-aw (D) fFmr-am

“TehehY TETT W 1ol ERAITT I &

o1 Tk wreg 1 =T AR |

(A) T (B) =

(C) wrem . (D) I

THE & EWRATHH § 2

(A) iR (B) wMUIWE

©) SR (D) gewieE
DANPECTATIV N @0 UL v ANNPSUTATIVR NN |\Ef\-z




. 93.

94.

95.

al—

m%ﬁﬁq: X
Simplify : 108+36><'1-+2 o
475%g
(A) 6/5 “(B) 17/20
(©) 4/5 (D) 15/21
mmaaﬁrf%m
5061+398+07034+76+03+2

Evaluate :

5.061 +3.98 + 0.7034 + 7.6 + 0.3 + 2
(A) 19.6440  (B) 19.6467
(C) 19.6444 (D) 19.6476

I DI G S T QT o & SR weenati
4,103 12T AT+ Q4 fovr=ar 8

Wi

108+36x"%+

. The least number which is a perfect

96.

97.

C(A) 40%

98.

square and is divisible by each of the

numbers 4, 10 and 12 is :
(A) 2500 (B) 900
(C) 1600 (D) 400

drHE 3:5 % ogua A 8 | AR e

6 g fear wu, | 98 g€ 9:17 &
9T 3 8 St € | B W @ |
Two numbers are in the ratio of 3:5. If

6 is subtracted from each, the new
numbers are in the ratio 9: 17 The

smaller number is
(A) 20 (B) 40 ©) 24 (D) 12 -

afg A, B &1 250% 2, a1 B, (A+B)EBT
TeramT ufcwra 8 2 '

If A is 250% of B, then B is what percent
of (A+B)?

(B) 28 %%, '

©) 66%% (D) 33%% |
TE 323 4§ . T
(A) HIE FUT HES Ta1

(B) W A=Y NUKICER.

© ET AT '{IUFI'@g

(D) dF IS UHES

The number 323 has

(A) No prime factors

~(B) Four prime factors

PN P IULNTSVE F0 ¢ YTLATS!

- GL-4

(C) Two prime factors ,
(D) Three prime factors

Ve SN PIUL ATV

VYA CEA PN NI PR SN

99,

NTANTSVe

12 .

100.

101.

FANPETL A TIVE @

fafi afi dw % A= T 1301 Ty
iR, afts 7 @l % ag fufee <6 afdn, 9 oy

¥ e Ay <) TR 3 TR B, B 4%
¢ &) @ & gAra S & | fif

frear fra 8 2 |
Divide T 1301 between Mihir and
Diptesh, so that the amount of Mihir

“after 7 years is equal to the amount of

Diptesh after 9 years, the interest being
compounded at 4% per annum. What is

part of Mihir ? ;,,,
(A) 676 B) 620%

(C) %653 (D) 616"

a1fides, feer ot =g w9t & wiftre
g & | arfrde, fame & few & 3
arftres fraer wan @ 3R fama, g g
R s R sme 165

| a7 #, i @™ T 5,500 8 | Fomm &
e fepa 2 2

" Abhishek, Bimal and Chinmay enter into

partnership. Abhishek invests 3 times as
much as Bimal invests and Bimal invests
2/3" of what Chinmay invests. At the

end of the year, the profit earned is

% 5,500. What is the share of Chinmay ?

(A) 2,500 (B) 1,500
(€) 1,000 (D) 3,000
T T T T T 25% S AN W S5l

2 | afe 39 T/ 20% HH W G g 3R
2q 7 12.60 7 T o= 8HaT, @ I 30% F
ST BT | g T 5 oA I <hit |

A man sells an arficle at a profit of 25%.

If he had bought it at 20% less and sold it
“for T 12.60 less, he would have gained

30%. Find the cost price of the article.
(A) 360 (B)T50 (C)T55 (D)T45
u,,-\-_.'\ R NS SNVALY '_\\A TV AN PIATA TV SN e ~.‘n‘-




103.

104.

105.

\

Mohan and Sh \

M yam undertake t

piece of: work for ¥ 800, Mohag :lznz
can ((110 1_t in 6 days while Shyam alone
can do 1t in 8 days. With the help of

Ramesh, they finish it i ;
share of Shyam, in 3 days. Find the

(A) %375 (B) %300
(] 8325 (D) T 250
15, 20, 25, ........ 135 Fofie frat we € 9

How many terms are there between

18,20, 25; 55551857

(A) 26 (B) 24

(C) 25 (D) 23

Teh T4 3T o ATHR 1 Rt sy

1 A 2 : 3 8 | A HT 8% 600 m?

- R | S i T W Hifvre |

A law'n is in the form of rectangle having its
§1des in El1e ratio 2 : 3. The area of the lawn
is 600 m". Find the breadth of the lawn.

(A) 50m (B) 20m

(€) 40m (D) 10m

TH ms%a =T 900 Hiet i it 2 fire
30 Ths T 7 HAT 2 | HIEhel TTeTeh Y
fepet/erer § ife fomafi 2 2

A cyclist covers a distance of 900 m in

~ 2 min 30 sec. What is the speed in km/hr

106.

alaxy; S? |

—

s

of the cyclist ?
(A) 8.7 ' . (B) 21.6
(C) 18.6 (D) 1.67

<t e 3 & gud, wee A S R 3
Fratt & oft o T 2 ) afe R st
37T 66 &, 9 T8 BT TE 71 HIT |

Of the three numbers, second is twice the
first and is also thrice the third. If the
average of the three numbers is 66, find
the smallest number.

(A) 24 (B) 54 (C) 72 (D) 36

W6 107 & 111 : Refifaa aifea &1 s

i fafir st @ u wfernft qften
9fRrd B gt 3tk Iefio Iufizamt
mﬁmmﬁmtﬁm #

Q. Nos. 107 to 111 : Study the followi

answer the questions : i
Number of candidates appeared and qualified
In a competitive examination from
states over the years are mentioned in the table.

ifferent

TS / State T4/ Year
2001 2002
R/ | @/ | ofRm/ | et/
App. | Qual. [ App. | Qual
A 5000 700 8300 960
B 7500 850 9200 1000
@ 6200 750 8600 1000
D 8000 960 9600 1250
E 7500 860 7700 950
=g/ T4/ Year
State 2003 2004 2005
I/ | vt/ | IufRa / |t/ | R | =it/
App. | Qual.| App. [Qual | App. | Qual
A 7200/ 900| 7000/ 800| 9800| 1100
B 8400 950| 9500 950| 8600| 1000
C 7600| 860| 8550| 1000| 9700| 1200
D 8600| 1000] 9800| 1210/ 8900| 1000
E 9600| 1300| 7600 940| 7980| 880

apIUL ATV N

13

108.

109.

107. feu U ai % <= T D § IUfHa B

et Iefieari &1 3Ha T & 2
What is the average of candidates who
appeared from state D during the given years 4

(A) 9010 (B) 8730

(C) 8980 (D) 8710

2003 T @t oty T A I IEfieE
) Fa T § Il IficE A FA
AT T STATG Sierwrd a1 8 2

The approximate percentage of total
number of qualified candidates to the

total number of appeared candidates
among all the five states in 2003 is
(A)18% (B)15% (C) 16% (D) 12%
2001 % Tt Tt & Fefiol Iefieardl S
TE, 2002 H qyft Tt & Il IE{CERI
<1 et T T ST feheT S @ 2
Total number of candidates qualified
from all the states in 2001 is
approximately what percentage of the
total number of candidates qualified from
all the states together in 2002 ?

(A) 82% (B) 76% (C) 80% (D) 71%
' GL-4




B

110.

111.

e e it & & vy ad & wsw € § sufRm

B T Iefigard # wen § 3ol
Iefigamt 1 e arfreran & 2

In which of the given years the number
of candidates appeared from state C has
maximum percentage * of qualified
candidates ?

(A) 2005 (B) 2003

(©). 2004 (D) 2001

ol =6} % I T B A_JR Y T

" e 8 e ¥, e it Ry T B3
i ik

- 112,

~ who can spe

113.

PENPEULNTEIVR PON VEVLATEVR O\ PICINTIVA OTN

- (A) 12
114,

1A wferarer fe & 2
What is the approximate percentage of
candidates qualified from state B for all
the years together, over the candidates
appeared from state B during all the
years together ?

(A) 16% (B) 11% (C) 13% (D) 8%
STRT HT AT HE R I Al Y T

H A HH Y FA 9T e g § |

Study the digﬁram and identify the people
at least two languages.

37t / English

%% / French v Gﬂh /G :
_ erman

8 Einre. B 5108
IR - F AW, + F AT NG, o

- wadmmiai o madAed, d

18x36-6+2+3="7
If ‘=’ stands for division, ‘4’ stands for

. multiplication, ‘+’ stands for subtraction

and ‘x’ stands for addition, then"
18x36-6+2+3=7"

)18 (C)8 (D) 3

78 37 oE T S B & e wEy W

Sl

CEoo"se the Venn diagram which best
. explains relationship among the given : - -

‘Human beings, Rats, Doctors

(A) ® O

( co |
© @O (D) -

GL-4 ; .

116.

1117,

118.

IOEATS VR CON POVIN T VL CONPTUENTEVR 00N PICTNTIVE OO PICTA TS VR QO POWCTA T VR SOAPRCTA TR AN BTN T VR

A
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118.

&

Preffaa v #, o W R mn R,
Fardh are uR e, Ry g #, frd @ few g
TeE & e T ITANT FH T WG AT

1 FehaT § | Y Weg I HI |

In the following question, one word is
given, followed by four words, one of
which can be formed using the letters of
the given word. Find that word.
DETERMINATION

(A) TERMINATED

(B) "DECLARATION

(C) DEVIATION

(D) NATIONAL

A&t 1 B A1 GUE § T AR @ §
oy T R T 2 T R MR
HT 7

Which one set of _letters when

sequentially placed at the gaps in'the
given letter series shall complete it ?

P 'RSQ RP_QR_QS_PP_RS _
(A) QSPSRQ  (B)' QSSPRQ
(C) QSRSPQ (D) QSPQRQ

R e Frredt & g W R g S

. S W :

Choose the correct alternative from given
ones that will complete the series: = .-
98, 81, 64, 47,30, (?)

(A) 17 (B) 13 (C) 15 (D) I1° :
=R fepedt § @ § T sy (X) 1 ¥
T B T | .

Choose the correct mirror image of the
given figure (X) from amongst the four

alternatives. _ '

' ‘ @) <’O @)
242 1020%
X) m @ & @
A B © 6 DM




119.

120.

121.

_‘ E—
[

BGEK :AGDJ : : DBHI :
() CAGH (@) gy
(C) HGCB

H ST TPt 3 e Frer & 9
OW many tri j
following tQl’gl,lrear?lgles are there in the

A) 23 ® 21 (©) 22 D) 20

T A6 TR Y 9t Y 3 6 R o
2, 50 ot e & ok 11 R e 2,
TR 2 e @ af 12 Rl o 2, R
T TS R 3R 12 Feeft =remen @, R ard
T 8 31 6 Foft v @ | 1w =i v

WA R gm0

< (A
- (©) 12km

122.

(C)

- A person moves from home position

1 fedfy
12 fomedft |

(A) ‘(B) 23 fft

(D) 17 Tt

towards Wwest by 6 km, then turns right
and moves by 11 km, again turns right
and moves by 12 km, again turns right
and moves ‘by: 12 km, again turns right

and moves by 6 km. How. far that person
is from home position ?

~ o (B)#23 km
(D) 17km

N {U‘"_‘,’l‘

Ay

7R R, 5 B

B

®,38% = foren ¥ w9 Y IR T

' %.mmm‘ar-
m 1@-{5{ i :

(A TR W (B) SR e

“(C) 3 : frsh

In the -below given question, a' pair of
words is given, followed by four pairs of
words ‘as alternatives. You are required

- to choose the pair in which the words

have the same relationship.
Gland : Enzyme-
(A) Brain : Cortex

- (B) Generator : Current

(C) Organ :Kidney
(D) Muscle : Spasm

(D) rrraﬁaﬁ&a—-f

i
i

123, = feu 1oy § us wue 3t 3gF are |

I, 111 3fR IV shwifthe =R @ mmfret § |

HTIH! T8 qF FE BT R B ar/A Tk

B e o B

=

ferepeatt & & aroe I | -

FH ;T 14 79 N Y 7% 5 qft F=

%Wﬁmmwamm7

I B | W a= A 9w 3R
AT ! TeH i T qee fyendt |

I 8 | a8 w9l S 5 Rl 5

1 Tk 9T a1 R | '

TE | BAR U T a5 e

;@%mmmmqﬁ

|

Iv. & | 39@ Sfew = d 9fg 2ty

(A) I IRV IGq £ |

III.

(B) HaA I TA9EA R |
" (C) FEAIIRIN TG R |

(D) +aa IV AEA 2 |
Question given below consists of a
statement, followed by four arguments

numbered I, II, III and IV. You have to

decide which of the arguments is/are
‘strong’ argument(s) and which is/are
‘weak’ argument(s) and accordingly
choose your answer from the alternatives

- given below the question.
.'Statement : Should education be made
-+ compulsory for all children upto the age

of 14 years ?

Arguments :

I Yes. This will help to eradicate the
system of forced employment of
these children,

II.  Yes. This is an effective way to make

the entire population educated.
No. We do not have adequate
_infrastructure to educate the entire
population.
Yes. This would
standard of living.
Only II and IV are strong.
Only II is strong.

Only I and II are strong.
Only IV'is strong.

III.

increase the

PONPIVINTEVE PONOICIATIVE AN PIVINTTVE 0N WA TV FONPEVTNTI VL (ONPOWIN TFFR CONPICIATIVR QAN OUTA TIFY R S0 UL A TE VR MO PIUTA TV SO BOVLATE YR
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124. 9 T T 397 § wF FuA 3R IS a1
1 31K 11 hwifehd Q) wromd @ 8 & | et
Fya IR fafafaa awonad
A R IR Polg a1 R fF @l

g
xiz
T
=

L T ueftet w2 |
I. =€ 4. 4% aoft oiw Tt &
g & | .
(A) FAI3RAL 11 @Al R |
(B) adt URuT I1 & R |
(C) 1311 Fafifed € |
(D) aet yren | AFafAfka 2 |
In the question below a statement
followed by two assumptions numbered I
and I1 is given. You have to consider the
. statement and the following assumptions
and decide which. of the assumption(s)
is/are implicit in the statement.
Statement : “Do not enter — avoid the
risk of ‘getting infected with the ABC
disease” — Written outside the quarantine
ward no. 4 (meant only for ABC disease)
of a hospital. '
Assumptions :
L Discase “ABC” is contagious.
II.  All the patients in ward no. 4 suffer
from disease ABC.
(A) Neither I nor Il is implicit.
(B) Only assumption II is implicit.
(C) BothIand II are implicit.
(D) Only assumption I is implicit.
Y. 6. 1253 129 : Refofed et 1 SmgEs
ez Hifor o = f e A <6 ST ;
Tt wiafia ot & g 3 fore frerferftaa adand 2 |
i &1 —
(a) FH ¥ F 60% i & @7 AT
" g 91T |
(b) 1 TS, 2006 ! HH A HH 2] T4 AN
rferam 25 € 1 g1 =R |
(c) HH 8 F9 55% 3hi » T1Y =TI Q&N
Sefiot g = | '
(d) ?so,oooﬁwmgmmﬁﬁw
B =R, S wRier % Su a1E W
& smoft | |

VA psTArave

GL-4

T _

16

E

T T B, o _
I 390 (a) H, T ifom FEeet it gdan
2 IH mmmmzaﬁm
65% 3 WTH H ,. 3w
mm%&w@%%m
ST 11 Hehell @ |
I 39 (d) 3, T 9 A H < 25,0003 TR
33 ) 3§ i v Tt fet 3 5 3
kbt B oy
L RAFEPED AT AT EHAT 8 |
frefafaq s @ #§, snadfl & faww
Ieh /Fwel areafifan & day § feume § | s
SeH T (FEATY) Tgl & 3T wed gt
@ IR val  (JfqEdi) % HAMR W
S /3ad) fRufy @1 Fol o R | S
frferftgd scis W o ed + fafaa
A 3R T o ff 7 T R | 78 ft 7
(forea) st | 18, 2006 Y At wigmeE |

Q. Nos. 125 to 129 : Study the following
information carefully and answer the questions

iven below : ' _
ollowing are the qualifications for post in a
reputed company.

The candidate must-

(a) bean Enimeering graduate with at least
60% marks. )
(b) be not less than 21 years and not more
than 25 years of age as on 1¥ May 2006.
(c) have passed the selection test with at
least 55% marks.
(d) be willing to pay a deposit of T 50,000,
" to be refunded on completion of training.

However, if a _candidate Ifills the above
mentioned criteria, exce

t:

[. At(a)above, but ﬁas appeared for the last
semester examination and has obtained
an aggregate of minimum 65% marks in
first seven semesters, his/her case may be
referred to the President of the company.

II. At (d) above, but is willing to pay an
amount of at least ¥ 25,000 and has
obtained at least 70% marks at Engineering
degree, the case may be referred to the
General Manager of the company.

In each of the following questions, details of

the candidate are given as regards his/her

candidature. You have to read the information
provided and decide his/her status based on the
conditions given above and the information
provided. You are not to assume anything
other than the information provided in each of
the following questions. All these cases are
given to you as on 1% May, 2006.

N —~—~va AT A= - - . —
PHMIATIVA SN mtAT ATV A NPTUTATI VA FOA LT A TSV CAA BT ATV L - - AT ATIVA AV Y I ATV VA AN T ATV

A




125

(A) ot Mz =Y Sro s |
(B) = 7 fopa e |
(C) RIS =Y S S |
(D) = foran wmem |
Diptesh has appeared for the last
semester of engineering degree exam and

- 1s hoping to score at least 80%. His

% aggregate

_ Score upto first seven
semesters is 75%. He has just completed

21 years of age. He has scored 66%

- marks in the selection test and is ready to
. pay an amount of ¥ 50,000 as deposit.

*(B)' Not'to be selected.

(A) To be referred to Company President

(C) To be referred to General Manager.

. (D) Tobe selected.
126.

- FTEA TR R | Shfaton 6 Raft wrfre
[ F % WG I0 Heg F Rrsivwrr % @

ER 1 B

L) 3o s o e
L (B) . I9A & foman Sirem |

C ’
B

T 68% 3 ¥ WY 2003 F 3t LG

T 61 R | 38 60% 3iehi & @ =

T S R ] | S8R 50,000 s

el SRR, 19823
l&ﬂ'v}“'

- (C) * ETHEEH B S |

D) wmfEemn
5 Mahi is an IT engineer passed out in
~. 2003, with 68% marks. After getting the

engineering degree, she has done MBA

. with specialization in Finance. She has

cleared the selection test with 60%
marks. She can pay the deposit of
T 50,000. Her date of birth is 15%

- September, 1982.

(A) To be referred to Company President.

Jis (B) Not to be selected. .

s’

(C) To be referred to General Manager.

(D) To be selected.

127.

128..

gden # it gan & 3fR aftormy Y et
? | 38 RS WA AU B Yo f yorm
goft g | Ie T € F 22 I A
W g A R | I8 91 % w9 F T 50,000 FHY
wi w§ Tfdr 1 YT A F F wwEn
TE R | I8 58% 3l % Ay =TT ThE
IR R |

(A) FaFTEra |

(B) WETIEYH i WA G |

(C) ot Mférde =t Ssm e |

(D) = Tk s | |
Shyam has appeared for the last semester
examination of Mechanical Engineering
and the results are awaited, He secured
first class in each of the first seven
semesters. He has recently completed 22
years of age. He has no problem in

paying the required amount of ¥ 50,000

as deposit. He has passed the selection
test with 58% marks,

(A) Data inadequate.

(B) To be referred to General Manager.
(C)- To be referred to Company President.
(D) To be selected. ,
S 4 S, 2005 F 79% It F @™
Siwa it 6 faft oa i | 58
=4 e #§ whie g, ™ S5 70%

- 37! & Y It FoRaT | SHY STfety 28

I, 1983 8 | 98 T 50,000 <7 Y Rufay

&1 B, AfehT ST % 9 § T 30,000 F

A T Sl STeT St |
(A) STIGR |
(B) = €l forar Smwm |

.. (C) WETISY I ST ST |
s (D) == TR o |

Shreya has passed out Chemical
Engineering Degree in June, 2005 with
79% marks. She appeared for the
selection test which she cleared with
70% marks. Her date of birth is 28" June
1983. She is not in a position to pay
< 50,000 but will arrange to pay T 30,000
as deposit.

(A) Data inadequate.

(B)- Not to be selected.

(C) To be referred to General Manager.
(D) To be selected.
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Zafiforr &, fore 2003
e T g e

¥ 21 o 1 3w & areet feft wdem
£ | 3 Rt v F 76% i IR T
e i 72 37 ST R | T8 STk ¥

3 7 50,000 36t TR BT YT T FEHA € |

(A) et AfEe Y ST ST |
(B) = TEl fpan Sm@T |

(C) WEIIEYe I Wil ST |

(D) =& fepan @ |

Nilay is an’ Electrical Engineer, who
passed out his degree exam in 2003 at
the age of 21 years. He obtained 76%
marks at degree exam and 72% marks in

the selection test. He can pay the amount

of T 50,000 as deposit, .
(A) To be referred to Company President

" (B) Not to be selected

(C) To be referred to General Manager
(D) To be selected ;

130, 39 T gRTE FRHH F T F M £
e Safrq Tt 3779 UTE 7T @ 3R HEAT
2 f IEY 23 T AN IFUA JEIAA &

a2 | g B B P S

agﬂﬂ,m:
(A) Troer % fore Rrepraa =t o a1 %
T §T 91ET | .

®) R w8 @ R o |

o geTe 1 wwelA T = |
(C) Teuita Sl HHAH & Y F FREAR
(D) * IS HT WTHAT G Hleh AT B
=R | o |
You are stationed as a police officer; a
distressed father approaches you saying
his 23 year old daughter has eloped with
her boyfriend. As per Supreme Court

directives, you should : :
(A) refer complaint to village council
- for settlement. ,

support reconciliation
criminal charge if consensual.
arrest the boyfriend on charges of
enticement.

file a
investigate.

(B)
©
(D)

without '

kidnajjping case and

132.

(D)

SR @ (I AT (F0) §
=R & foru gemg < =R |

3TeTTE BT gFE AR |
NS I G HR () IR Gl
STTETTH Y& T ST |

You are stationed as a police officer;
you receive intelligence of an inter-
religious couple facing harassment

(D)

" threats from fringe outfits. You should :

refer them to protection officers

(A)
- as per procedures.

(B) counsel the couple to avoid public
interactions. -

(C) suggest their voluntary physical
separation. )

(D) provide - security cover and safe
transit for the couple.

31T T gfoE ARt % w9 H ¢ E;

YT % @Y 9dd faarg @ @l Iua

sfis Tl 3 HEES Yad §E HH H
Ymehl &1 8 | IR : s

(A) Y g HRAE & Q. AR
-, 3R o oA AR |

| (B) quERE! % o9 fyag Y 41

% HErEEr S I |
(C)- TEwqul gFHTEl el i TG
¥ vl FI SAgeh UHAT AT |

(D) @R @ gufedl % fw afeEm

 Yarait @ qid FIReR ST =17 |
You are stationed as a police officer;
agitated labour unions threaten to stop
essential services over wage disputes
with management. You should :

(A) impose fines and charges for
illegal strike action.

(B) assist dispute resolution dialogue
between stakeholders. :

(C) forcibly stop attempts to blo
critical infrastructure. A .
arrest union leaders immediate

for disruption threats.
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AR T I g0 FioRe sy
<1 Wi forrea # fiveft @ S =1 Rge
Wwa‘%maﬁmm R

(A) #m@faﬁiiatﬁﬁamgmwmé
| EES (SHST) Bl SHR H o

I
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(D) R ST % T&q Qe ST S et
HET ¥ SIS 9 & g =1 |
You inherited . investigation into
corporate fraud by an industrialist who
then offers a personal seftlement and
closure help. You should :

secretly accept settlement while
declaring case closed .

(B)

(B) commit to investigate ‘the fraud
_ fully and impartially
(C) avoid examining any further

witnesses or records
(D)

revidences under legal scrutiny

3T T gfeE e % w9 § e §

I R H I gensT Y AEe

@ ECICEIECT

, TERR % wem ¥
TG Y o1 HEAI HET AT |

(B) i e gl e
o T

FHTHT =R |

" © YU TETH T HT I Hh

it FR 1 T WEA (@]
ST AR | : )

i (D) féoes rauy sfoem ot aHt

Siftrll & EdTs ! =T |

. You are stationed as a police officer; to
. solve a series of undetected homicides in

S@@“@‘D’{Eﬁﬁéu AR PATTNT

- (B)

your jurisdiction, you should :

(A) study behavioural patterns through
psychological profiling
complete DNA profiling of entire
regional population ,

data mine CCTV cameras using
facial recognition scans

question all existing convicts
with violent crime history

©

VPO I

_partly deviate from incriminating -

s ATEVR CANPEVINTIOVE CANKOL LA TEVR RN WSTLATIVR S02 0 =
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135, m@mrﬁmgmz%mﬁm-éﬁzm

£ | ot e gl a6l & I =vE F FH
@ ¢ AR wrhg i afi ymmEn %
Y 3MUHT =BT dHd a9 T 8 |
Tetfteh, TG % HAO, ATTH TH A
yfera R # Tt @ fean s € 8t
amraen fafir wenr Y wenat i et 8
frgesT ggdr & | IR ol 2 o 98w
e 3 Y e B | 3TTIHI ;

(A) TIFTGU & =21 & FHR F
w1fge 3R Feg & T RIE W
IIIE A I Ifig HET =TT |
YT T 3 HIR F g 5
% 5@ % ¥ 4 =ien FE T
3R gg ! TE ANl & g dar
HET AT |

forelt a1 i R T R
1 A HET =Y & I F
% 3R BT T @ g |
A & HH H AT HA
Trfee 3R arfior R9M § 30 FE
3R IuAtel 1 g o1 JMe |
You are a sub-inspector in a rural police
station. You have been working in the
same station for the past five years and
have developed a good rapport with the
local people and the administration.
However, due to a reshuffle, you are
transferred to an urban police station
where you have to deal with' a different
set of problems and people. You feel that
this is a difficult and stressful change.
You should :

(A) accept the transfer reluctantly and
hope to get back to the rural station
soon.

accept the transfer as a part of your
career growth and prepare yourself
for the urban challenges.

seek a transfer to another rural
station where you can continue
your work and interests.

request for a cancellation of the
transfer and cite your performance
and achievements in the rural
station.
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(A) A % e v B Rl % (A) 3G TE i wEgE We @Hd @
AU Db U U g et
(B ~-g-hAIS & ‘ |
"(')amﬁtﬁfwar%m (B)%ﬁﬁmﬁ%WMﬁ
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As a police otficer, certain religious

hostage crisis 0 eration you lead enters - _
A hostag P : customs are raised denying ¢€ ual

critical stage when your chi d meets a life- ) , r
ﬂlreacl:tenisxt%gacciden}t,. You should : , property rights for widowed, divorced or
(A) strategically allocate  areas of aRandqne I'women. You should : .
" operational responsibility among _ (A) glsm1ss cases outright "if norms
: team. ave been long accepted in the
& (B) fully handover reins to accomplished community. :
43 e B second-in-command. (B) refer cases to fast track courts
(C). conceal ‘personal news until (C minimizing delays. ,
 operation resolved before focusing | (C) run a district awareness campaigns
on family. | ‘ drive on gender rights. . T
(D) cite  laws superseding  unfair

“(D entrust deputy with operational sene, . e
) strategy butp r'e%in authorxlgy. | | traditional customs.
| ) e 139, T gRrE IR F 9 H, F© ATl

137. Wftaﬁﬁaﬁmm&ﬁﬁﬁﬁ e ¥ Eed ST §ES- W R

FREE, AR Ry FEE | AR LS
| A TRE R e | [ P s foreet frrad w8
(B) . et o7 i i o ) - e R
PR B B R or@ed @ | (B): SR S . FE
©) = wrw frepen % e, dif A8 s .
| . @ e s F TEEE BN o3 Fevirar g i ;SR
: & e T Hiet AT AL | : ' (wﬁa)‘w%_%qagarﬁ%m
(D) T ¥& W AGULRI TR F & H | 5 HUAT T | T
AR o R, dfeT e (D) qRYTE WIS H Tl A 6
i e =R | | _%Qa%ﬁqﬁmmm‘m
Xvnheg . érlllv<:§t;gat1pg 1dentityﬁ theft and T 1T | :
ation crimes, you should : A i ertai i
(A) analyze IT assets of suspects | corm iain 01c1>(t:'e bgit;lﬁ cerv’vrocrfgsmdeglrggg
®) sg?aqched under warrants for tools. habigual. offenders. %ou should
obtain court authority to reverse- (A) setup watchdog complaint cells to
© engineer any phishing Kits retrieved. monitor forced confessions.
( E:rsolnally call victims pretendin . (B) enforce diversity quotas employing
) G t9w edge to  extract ba officers from marginalized tribes.
D) ;r;t(l)rrz\&t}on. _ _ (C) table meetings with communities to
/ p ethical hacking traps portraying realign engagement approaches.
" as criminal buyers on dark web. (D) implement mass counselling

programs to reorient traditional beliefs.
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As 1
a police officer, you are involved in a

crimi i i
fouo::,lial 1.nvest1gation. Which of th
ng is the name of the documenet

-th
at you have to submit to the court after

completing the investigation ?

(A) Bail Application

141.

() Responding

(B) - Charge Sheet
©). .Arrest' Warrant ,
(D) ' First Information Report

q@ﬁﬁﬁgﬁ%@ﬂwﬁqmmm
Fad s T H @ 2 '

@ qgEE g fg & T I
ot W af@ 3R Fued ¥

- feufea
(B) mﬁaﬁﬂﬁ%%ﬂﬁaﬁzﬁ%
' 'mﬁmaaﬂxmaﬁﬂml
‘ - e

(D). 9"

Which aspect of community policing

resonates you most ?
quickly and

to emergencies

efficiently '
reported bY the community:
B) Building trust and rapport with
residents to PT vent problems:
©) Using 2dva d technology like
.~ drones cameras or
gurveillanc i
(D) Increasing olice yisibility and
natrols to deteT crim L

mﬁﬁﬁ%.%ﬂwﬁ

142,

143.

‘demand amendmen

“(A) depute

SRR (7) % |
o R I fore
ZG[)'WM”W:(?) iy
: (B) w.D.C

&) e © W

Find suitable
alternative i
question mark (?). RIS oH e ol

Russia : Moscow

| 10 g
(A) Tokyo (B)ree\(;D. (C?)
(C©) London (D) At‘he'ns.

5 g el % w0 d

H FEH ’
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£ P PR HE, =1 |
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(D)

“As a police officer, certain groups

ts in laws upholding
against traditional
u should :

- directly engaging I
(B) -make preventive &1
fringe elements
violence.
table community
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145.

. 146.

147,

(A) 6km . B) 16km
(©) 2km (D) 15km
ﬁw%ﬁaamﬁwwﬁ%ﬁ%ﬁlaﬁ
ﬁwaﬁmwm%ﬁm% |
'Mﬁﬁéﬁwﬁ%m%l : '
@) =@ B) = .
- ©) =i (D) %

AN,

GL-4

o e Rt & 75 W feew g 9

SR 1 T HT |

Choose the correct alternative from the

given that will complete the series.

1000, 759, 618, 545, 514, (?)-
(A) 504 (B) 502
(C) 507 (D) 505

s fAffed g wwr &, “ROMAN” =i

“IFDAE” % %9 i firar a1 8 | 9t e &

“WATER” # %% feran ST 2

In a certain code language, “ROMAN? is
written as “IFDAE”.. How would
“WATER” be written in that code ?

A) . AEBEI (B) EIBAE
EC)) IFAEB (D) EABEI

T S o & g Y 3R 10 frft wreman R,
o and e & i 5 frlt s 2, R R

e e @ oK 11 et e 2, R and

T @ 3ft 5 fondt e @, W @ and
31 8 3R 1 forft e & | g == o
wAfRA g my e -

(A) 6fwft . B) 16fmH
©) 2fedft (D) 15 foreft .
A person moves from home position
towards east by 10 km, then turns, right

and moves by 5 km, again turns right and
moves by 11 km, again turns right and

- moves by 5 km, again turns left and

moves by 1,km. How far that person is
from home position 9

In following qQuestion, some words are
given. They have s

Ome.common featureg
except the odd

one. You are required to
find the odd one out,

ow - B ;
© Stom 3. Quay

PN PILNTE YL g,

SNTSVR oo ez WA YL r\:\.wv;fv:':a

148, I “SOUVENIR” ¥ % wee, ik,
gfed afk 3@ A& HT TN Feh T
TTefes S Teg T ] (T &R BT
Fad T 91 I R 9T R) ot W@

R R ST S R E 2
(A) 3d3fE (B) 2
© 3 D) 1 e
i - i d has to
i’gr;geiziggf;ll‘,%?dg,l?"l‘i avr:lccl)rS‘h letters of
the word (each letter to be used once

only) “SOUVENIR”, then how many
such words can be formed ?

(A) morethan3 (B) 2
©) 3 D 1

149, T 1! A (noon) h T & A TR L |
5w 20 o W, Wi 0 o g B
A clock is started at noon. By 20 minutes
past 5, the hour hand has turned through
(A) 160° (B) 150°
(C)~ 155° (D) 145°
150. 319 =it 3, i1 % weidiar 7w e Y § |
Y, T A A R, R s R
W RN B € | 9ReR ¥ gRear
ma%,ﬁiﬁmmm:ﬂ%é%ﬁm
3T e § | Tare s T Y I ) 35
AT N CE R H 3 7= § | forew e

tﬁaﬂ;aﬁawﬁm%?
(&) wefte (B) s
©) i (D) 3=Fa

Among her children, Ganga's favourites
are Ram and Rekha. Rekha is the mother
of Sharad, who is loved most by his
uncle Mithun. The head of the family is
Ram Lal, who is succeeded by his sons
Gopal and Mohan, Gopal and Ganga'
have been married for 35 years and have

3 children. How is Mithun related to
Mohan ? :

(A) Nephew (B)  Son

: (C) Brother (D) Uncle
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